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1. Answer all the questions. All step by step workings have to be shown clearly. Without
working , marks will not be awarded.

2. [Itis a close book examination. However, One page formula sheet is being attached along
_ with necessary PV tables. Notations have the usual meaning.

3. You are allowed to use your own scientific / financial calculator only. Exchange of

calculators is strictly prohibited.
4. Use of mobile phone is strictly prohibited.

5. All the necessary precautions have been taken to make a flawless question paper and
necessary information has been provided to answer the questions, as such, do not

disturb the invigilators present in the hall.

CLO3, BT IV .

1. A) Ms. Arpita Kapoor is a portfolio manager of Sumer Consultants Ltd. She manages

portfolios that lie on the efficient frontier and CML ( Capital market line). She asks

Manish Thakur, her immediate subordinate to review the portfolio of two clients

Ratnam Finance (Pvt) Ltd. and Sukhsagar Investment Ltd. The expected returns of the

two portfolios are quite different. Manish finds that Sukhsagar’s portfolio return is

identical with that of Nifty 50 return and concludes that Sukhsagar’s portfolio is better

than that of Ratnam. Do you agree with Manish’s conclusion ? Examine and conclude

a) by drawing securities market line gecurities Market Line),



b) i) What would be the correlation coefficient between Sukhsagar return and Nifty
50 return ?
ii) What would be the beta of Sukhsagar ? Explain your answers.
c) Manish further observes that Ratnam has a higher return ( than Sukhsagar) but
lower Sharp ratio than that of Sukhsagar. His first impression is Ratnam has

higher non-systematic risk.

Distinguish systematic and non- systematic risk with examples. Do you think
that Arpita will agree with Manish’s views that Ratnam Finance may have a
higher non-systematic risk? Justify
B) Vigilence Securities evaluates the performance of 2 common stocks. Srikant
Telecom and Fortune Lab respectively. They gather the following information

a) Risk-free rate is 5%

b) Expected rate of return of sensex is 12% (market proxy)
¢) Beta of Srikant stock is 1.5

d) Beta of Fortune stock 0.8.

Based on the analysis, Vigilence forecasts the returns of two stocks are -
13.25% for Srikant, 12"’4 for Fortune. Calculate the required rate of return of
both the stocks as per CAPM. Analyse whether each stock is undervalued,
fairly valued or overvalued following CAPM. How will this valuation

distortion will be corrected ? Analyse and conclude.

Marks : 6+ 10

CLO 3, BTIV
2. A) The current yield curve for default- free zero coupon bonds are as follows —
Maturity ('Years) YTM
1 10%
2 11%
3 12%
Examine —

a) What are the sequences of implied 1 year forward rates ? (Assume pure

expectation hypothesis).
b) If market expectations are accurate, examine with reasons what will be the YTM

of 1 year and 2 year zero coupon bonds next year.



C)

¢) What should be the current price of a 3- year maturity bond with a 12% coupon
rate paid annually ? If you purchase it at that price, what would be your total
expected rate of return over the next year ( coupon plus price change)?

B) Day count convention — 30/360. The 6 month treasury bill spot rate is 4%, and the
1 year treasury bill spot rate is 5%. What is the implied 6 month forward rate for the
6 months from Now ? Examine.

10+4
CLO4, BTIV

. A) HDFC Dynamic debt fund portfolio consists of 75% GOI bond, portfolio modified

duration is 2.10 ( category average 2.74) with a YTM of 6.42% (category average
6.65%). Analyse and compare the risk and return of the HDFC fund with category
average. Current yield is 7%. If there is an increase of 50 basis yield then what will be
its NAV (current NAV being Rs.73) of'the HDFC debt fund portfolio? How the HDFC
fund NAV behave with respect to category average value ? Compare.

B) A 6% coupon bond paying interest annually has a modified duration of 10 years,
sells for Rs.800, and priced at YTM of 8%. If the YTM increases to 9%, what is the

predicted change in price using duration concept. Conclude with working.

You are comparing the yield curve of GOI bond having 5 years remaining maturity

~with that of a highly liquid AAA rated corporate bond with same coupon and same

~ remaining maturity as that of GOI bond. You find that the corporate bond yield curve

remains a slightly above ‘the GOI bond yield curve. Why ? Analyse and conclude.

3+3+4
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TABLE A.2

APPENDIX A Mathematical Tables

Present value of $1to be received after t periods = 1/(1 + 1)t
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APPENDIX A Mathematical Tables

TABLE A. 3 Present value of an annuity of $1 per perlod for t periods = [1 ~ 1/(1 + r)1]/r
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APPENDIX A Mathematical Tables

TABLE A3 Present value of an annuity of $1 per period for t periods = [1 = 1/(1 + r)!]/r
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